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— 9177 7127Y AP A W
There is maturation in the grave, and so it is belongs to her son

Overview

X217 queried whether there is 71222 732 or not. Initially, the X773 assumed that this is
relevant in a case where the 70IR1w 771 died before the 01 was paid to her father,
and the 01¥n was judged after she became a n7312 (while she was deceased). If we
assume 7272 132 v, the 01 money should be awarded to her son, for if she were
alive, she would receive the 01p money (since she is a N7313, not a 77V1), sO now
that she is deceased, if 72p2 732 w°, the 0ip will go to her son, who inherits his
mother. Md01n discusses whether a 017 payment is inheritable.

n1voIN asks:
= 19320 0P YIMNN DN 1PN XN NIAY DI HYINI NNNY 9129199 2811 9557 9NN ON)

And if you will say; how is it possible to say that she bequeaths the 017 to her

son, since the accepted rule is that a person cannot bequeath 219 to his children -
- (3,30 97 1IPY DY) PID U 10IINT

As we say later in the beginning of ;719w »9» -
= AN YP9Y 923 952 Y 99N ) 271102)

And shortly the X713 also states, if we assume 92p2 932 w9, so the father’s rights

are forfeited, and the oix» does not have to pay. This concludes the X3 -
= Y HNINN D NN AN YPO NY 933 93P2 992 W2 %3 DIP YN DTN IN)Y

However if a person can be 21 w1, even if 9292 932 v, the father’s rights
should not be forfeited and the 01> should belong to him according to the laws
of inheritance; he should inherit his daughter; he is her closest relative —

mooIn rejects the latter proof:
= 9NN NN NN ON NI NPT MNTY W 7INDAT NI 11919

However regarding that X773 which is mentioned shortly, we can disallow that

! See ‘Appendix’ A. 721 there states, that when I said that after 772 772v77 (after the 72 ruled that he has to pay the
01p), it is considered 1mn, it means that (if the receiver died before being paid the 01p) he can bequeath it to his
children, and they receive the payment. Indicating that if there was no 172 774v7, he cannot be 1°12% 03P w>n. Others
maintain that M990 proof is from the 71wn on 2,81, which states that if the father died before they managed to go to
7", the 01p belongs to her, If 1°12% D1p w1 07X, it should seemingly go to his male heirs, not to his daughter. This
proves that 1135 03P W X"R. See *1°771 17"7 2,72 n"2 '0n, see (however) also YW *1o..

2 x,05. If the P72 77myn was after she became a 72p2 732 (where, if she would have been alive, the 01p would be hers,
not her father’s), so if we assume 132 732 ¥ the father’s rights are forfeited. The 01p is supposed to be hers ( 731 w°
12p2), and since she is deceased the DIR7 is Mo,
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proof (just mentioned), for the outcome that ax yps if 92p2 732 ¥», is in a case

where she owes money to others -
- TN dHYA PYVIT VIP YN DTNT 2) Y GN AN Y9 9293 933 VO ONT

Therefore if 92p2 932 w5, so the money belongs to her, then we say arm »p2 (the
father receives nothing), for even though that o1 w3 27X, nevertheless the

father does not receive the 0ip, since her creditors take it -
= 35Y KDY 1YY NIN 0IPNY AR YR RDT 01D MAIN Y7¥a 1PV PN 93P 992 PPN ON DaN

However if we maintain 92p2 933 PR, the creditors do not receive any of the 01p
money (because since the deceased daughter is not owed any money from the

DIXn), for 287 wpo KXY, therefore the i belongs to the father and not to the
deceased daughter.

N1d0IN answers:
= 7999 %399 NOMYT NN 132D 03P NV PN RN MYWPNRD 81 NN XINT 990 v

And one can say that indeed here the X713 could have asked, how can you say if
q2p2 M2 W, it goes to her son, but 712% D17 nwa PR, however the X3 asked an
even better question that it is impossible for her to even have a son!

mooin offers an alternate explanation:
= YINNY NDIDN NN NIMNT 5019 NV “NINT NIV 1N ¥ PN 1%

And the 5''9 establishes this query here of X217 regarding the 232y nw2, which

the 01X7 1s required to pay, for this is 132 (not a 01p) and she can bequeath it to
her son —

mooIN anticipates a difficulty:
= SANN NPV 1Y P72 TNYY NPI9DN RY (3,8n ow) NIYI YIH2 1INT 2) JY 9N

And even though the w7 teaches in the beginning of 79w1 P79, ‘if there was

no opportunity to go to court, before the father passed on’ the rule is -
- 7Y 590 SINPTA ONP 323 D)D) HVIANY NNKY YV ) 9N

3 We have negated the second proof (from %027 X777; on X,07), however we still have the proof from the beginning
of w1 P79 that 1°127 01 W™ DX IX, s0 how (in the X"¥7) can we say "7 71271 12p2 W32 w?!
4 See X"wnmn that only regarding this first X’v2°X can we answer that it is concerning 5", but not concerning the
following ®°v2°R of X271 whether X7 W 2877 ¥p9Y 1292 132 w°, where it is discussing 03p, w">>¥.
5> nw1a is a payment for the embarrassment, which he caused her, and 030 is payment for the amount he devalued her
from her worth as a 79103, to become a 7212. These payments are not set (like the 01p payment of 50 o°%pw), but
rather it depends on the social status of the individual girl. Therefore it is 7127 and not 01p.
® Normally all the payments, including 0391 nw12 03p, go to the father 7737 *2x5.
"If the mwn» meany that only the 01p belongs to her (but not the 5"13), the wn should have stated 7%y 2w X7 7 (or
TnYYY 01p "), the fact that it states 7n¥y 5w 371 °77 indicates that she receives everything including the 5™12.
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‘That they belong to her’ (the 77¥1), and, continues N1901n, this is referring to

the 239y nuna also, not only the 01p, since the 7w states (in the plural) that they
belong to her —
- 80)9) NI YWINIY 9192 PNT ¥HIWN

This indicates that the father cannot bequeath even the 232y P23, so how can the
"3 answer that if 71272 932 v, she can be w717 the 8™12 to her son?!

nBoIN responds:
= 1Y AUN NNN 229NT DIPY DI NV WIPHON INTY DT PIYDT PNYY 13929 909IN)

And the >''1 says that regarding this matter (to whom the 5"12 should be paid),

certainly 5''13 is compared to o1p, for it is written ‘since he tormented her’ -
- 1153 DT 19 NTY SNYYT 100)9) MY KIINT YYan

From which we infer that there is a payment for '"12 and the w17 teaches us
that the person to whom the 01p is given, this 5™12 is also given -
= VPN KD 2990N 9D ban
However they (017 and 5"12) are not compared to 017 regarding other matters -
- 29989 99 Y 1oYW 199N DI 1Y 29 Y BYYN DI NV XN
For the oixn pays 2'''2 by his own admission , but he does not pay 217 by his
own admission, therefore she can be w7 the 5"12 to her son.

In summation: the rule is 1127 01p ¥ 1 07X PR and indeed the X3 could have asked, ‘how
could X271 say that if 22p2 32 v the 01p would belong to her son, but v12% 01p w1 XK.
Alternately, X271 was not discussing 01p, but rather 2391 nw12 which is 71n.

mooIN asks:
= (0w 3,8y 97 80P 33) 131121992 13299NRT 9NN 12 PNHYY 13229 AYPN DAN

8 We can understand why the 01p is 7m¥¥? (and not to the 2877 *w), since the 01p is not due until the 7"2 rules that it

is due, therefore since at that time the father was no longer alive, it never belonged to him, therefore he cannot be

v it. However regarding 512 which is 77n, it is owed to the father immediately (even before 172 77vi; the 7TMyn

172 by 1mn just verifies that this money is owed [but it does not create the obligation as it does by 03p]), and he acquired

legal rights to these payments, so why should it go to the 717¥3; it should belong to his legal heirs (her brothers)?!

? The 7109 (in v3,2 [XXN] 0™27) reads, "N 7Y WX NON TWR? 7390 2 A9 DWH TIYIT XY 7Y 2T WORT 0.

10 See later 2,m and >"wA there 5951 71"7. The q03 >wnn is for 71y WX NN, however since by any other p>1» there are

also the payments of 512, so why should she be different. In any even the 7™n writes these two types of payment

together in the same 109, so we rule that all these payments go to the same person, namely the father.

1 The rule is M5 01P2 770

12 Similarly the rule of 113% D3P w>» 7R PX is only by 03p, but not by 0301 nw1a. Therefore, since here there is no 01p

payment (to her father, for she is a 122 732), the payment of 52 can go to her son. The rule is that 77 1n°1 71w "N

1071, but not, if one (03p) is not paid, the other (5"12) is not paid. There is no such rule!

13 X231 posed to following query to Jam1 27, one stole an ox which belonged to two partners and slaughtered it (this

would normally make him liable to pay five oxen, as a 01p), however the thief admitted to one of the partners that he
3
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However, the 2''2%9 asks, for the X713 stated in 572192 Po -
- 15959 SNSA NWHRN XYY NN 9N 1p2 HUNn 1Y 9N

7am1 27 said to X210, ‘the 790 stated five oxen, but not five half-oxen’ -
= 16713 77 930U N DYYN AN 511 T INNI 992 NAVI AN TYN 23) NYASPN

X271 refuted 1", the Xn» 12 teaches, ‘one who stole from his father and either
slaughtered it or sold it, and afterwards the father died, the son (the thief) pays

the payments of four and five’, this concludes the xn>93, and X327 continues -
- 1) 71 SMBUN DYUNT S3ND) 1805751 NIINA 1Y DT 7PN HNT 1P NN N

But here since the father died, the son acquired his portion, and nevertheless,

the Xn>>2 taught that he pays the '/m '? payments. The x»3 continues -
- 199543 1YY 19PPOY INND NIN SIUNY

And the X713 answers, we are discussing a case here where there was a ruling
from the 7"°2. This concludes the citation from 7121972 p95. Our MDYIN continues -
= 20959y 199 NN NN 9P INSN NWNN KDY 9P NYNNT DIYN IND INT ¥NHIYUN

It seems if not for the problem based on s'1"7 ruling of ‘five oxen, but not five

half-oxen’, the Xn>>72 would have been properly understood -
- 2199325 D YN DINT NN 1772 TRYYIA MMIPIND 7998 1N XD

And it would not be necessary to establish the X171 in a case of 1°72 T»y (which
makes it 11721), so it is evident that 1912% 212 w1 278 -

MB0IN answers:
= 22959910591 9939120 3813 MNNT MNTI W 1)

stole and slaughtered the ox (which makes him a 0ip2 771, so he is exempt from paying this one partner); the

question is does he need to pay the other partner five half oxen (since he only owes half the 037), or not.

14 The 2109 (in 12,8 [D°WdwWn] Mnw) reads, 7pa NOR XX Y2 113 NOR 0797 Tps menn 1127 I8 001 A i) i N 213 0.

15 Therefore the thief is exempt from paying the 01p (to both partners).

16 T et us assume that there are two sons; the thief and another son. The ox was worth $100, the 'm "7 *»5wn is $500.

The father is not here, so the money goes to the sons $250 to the thief, and $250 to the other son.

17 Obviously the thief need not pay anything to himself, he only has to pay $250 to his brother, so we see clearly that

there is a payment of 12 *X¥n 7wnn, not like 1"7 answered.

13 In our n17na the text reads, *INPY a7 377 TARD 7T 7P WD I (instead of *INP1 75T RNIMA 5199 7197 PIX).

199" ruled already that the son owes the father $500. The thief therefore owes his father $500. This is now

considered money due and (not a 01p), so therefore the children can inherit this money.

20 %27 asked on 1" based on his ruling of 7P *X¥n Awnn X9, if however this ruling would not be true, meaning that

there is a payment of 12 *Xxn 7wnr, the Xn*92 would be understood, he pays his brother the $250, which he owes

his father, but how can that be; this is a 01p payment, how can this be given over to the son 1°12% 01p W Q7R 7PX?!

2l We have here a contradiction; previously n1901n stated that from the n17»3 it is evident that 1°13% 01p W DR TR,

however here we see that 1127 D1p w7 OIX.

22 The truth is that even without the ruling of 17 we would need to establish the Xn>2 in a case of 172 T2y, for

otherwise it is indeed not understood why he needs to pay his brother, since 1°12% 01p w> % R"X. The &3 could have

challenged X217 in this manner saying the question you have on 1"7 is valid even if you do not agree with 1", since
4
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However we can reject this question, for the X7 could have said to %27, ‘and
according to your reasoning is the xn>12 understood’?! —

n»doIN asks:
= P2 INSN AYNN ITIONI NINNI 9IN 9Pa NWNN 1D 99N NI98Y Pr01nT HYH Yan

However there is a difficulty, for the X there in 7217 concludes, ‘in the

morning, 1" said to X27, the 7170 states five oxen, so even if it is five half-oxen’ -
= NOYD NIV INMI 23N NIV INI 1YY 99N

X271 said to 1", ‘what is the difference between the X1 and the X2°% -
- 249309 9919 NV T2 NN NN AR HYN 23 2INPT VI

The explanation of the X5°0 is where the Xn»72 teaches, ‘he stole from his father

and his father died and afterwards he slaughtered or sold, the son is exempt

from paying 'm '7 to his brother (but he is required to pay [half] the 177 and 792) -
= 2691082 1919 INAVY 19299 NY XD 25NIIDIND 1919 1NAVI N3 199D YW NPY 99N

1"1 said to X217 in the X2"9 we can read into his act of 17°2v the verse 72wy, the
entire slaughtering was prohibited, in the X230 we cannot apply and say that the
entire slaughtering is prohibited -
= 272951 NYIDINA 1995 1n021V) 192 )999P INT YNPYnN
It seems that if we could apply X719°82 1912 17221 he would be 297 in the k270 -
- 19329 D)7 UM DTINT P72 119Y K91 2) Y 9N
Even if 1972 72 8Y; the reason being that 1°32% 23p @11 27K, Our N0 now proves

that he would be 211 even if 172 7Y X7 -
— 28991139 NIV NI VT 0P NN NY 1272 “13y2 'NT

we have the issue with 1°12% 03p w0 X"X. Instead the X713 gave the correct answer whether we agree with 1"7 or not,
that it is a case of 172 71y therefore once there was a 7"°2 po», the payment becomes 717 and not 01p.
23 The Xw1 is the case mentioned earlier where the father dies after the 779m1 Am2v, and the son needs to pay (half)
to his brother.
24 Why is it that by the X@™ (where he was 791 12y when the father was alive) he is required to pay his brother, and
why in the X9°0 where he was nav after his father died is he 715, seemingly when the father died the ox belongs
(half) to his brother, so let him pay his brother 72 "R 7wnn (just like in the Xw™).
%5 The ox belonged completely to the father, the son had no right at all to kill it.
26 The thief owns half the ox, and in that half he is not prohibited from slaughtering it. Therefore we say that the rule
of 'm '7is only if the entire 1mavY was XM0°X3, otherwise where it was partially not ¥M0°X2 there is no M "7 "m%wn.
27 The only reason why he is M5 in the X5°0 is because we are lacking the XMO°R2 X913, if not for that (meaning that
we will consider the X110°k2 X713 82°0) he would have to pay.
28 The x9°0 must be discussing a case where there was no 1"72 772¥7 for the 992, for if he was 99371 ¥ 172 72¥ and
then he was 9m1 nav, there would be no 21 of '71 '7 regardless. Once there was a 172 77277 on the 931 1P and he
was 1", he is considered a 1773, and there is no ' '7 211 by a 1213 (only by a 213). There is no need to mention 72V
T10°K%2 1912. This proves that there was no 172 77¥7, and nevertheless he must pay 295 to his brother. This proves that
135 DIP WM OTR. See K"wIIA.
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For if the X9°0 is discussing a case of 1972 7»¥ he is not liable for o1p since his
92121 172w his own ox —

Mo0IN answers:
=99 1559 NON 2990 199N 172 THYT Y9917 PNYY 13929 XM

And the >''1 answered that we are discussing a case where he was 1°72 T2y and

7"2 told the thief, you are obligated to pay him (but they did not say, ‘go and pay
him’); in which case -

= (ow 3,59 97 0w) 22919012 1399N79 2N 19 9NN NIV NI ONT
Where he was 2w afterwards he is liable for ‘7 '7 as 827 rules in ®357 P9 —

mooIn offer an alternate approach:°
- 3Laga Y 1299 PIYY S9N DY) DIDT DAY YN JaYD DR 19329

And the 32977 °'' answered that this X923 in 791 P79 is a discussion regarding

77YI2W 3292 (but not 1°12% 0Ip WONAY) -
= DAY 1299 PIYY T9 XTI 320NNT NINDT VI 9N)

And this is the explanation of the X°»0 there in the beginning of 77v1 p75; 727

said, ‘I admit to you regarding a 7¥13w 3299 if one swore falsely that he was not DI
the 771 -
= 191792 19°9¥a 3WNoM NY909 NINPNIY

For the 770 exempted him from being 2111 a 712w 1277 based on the 105 of

1722 vy widY (and he denied his friend regarding a deposit) -
= 3399320 YYININY 1N 1NNINT NIPNINP 99)

And when I stated that it is 117 it was meant to bequeath it to his children -
- 29NN PTAIPNRYNY JI2ARY 2990 NPV 0P 1A%aNX NN INRY ¥MIYan> ONY

That if the children, after their father’s death, will demand from the 0ix» the ®1p
which he owed their father, who brought him to court and was found liable -

29 %21 rules there that if 72 told the 233, go and pay him (1% I X¥),, which is a final poo, and nevertheless he is 12w
afterwards he is considered a 1713 and a 7213 does not pay M '7 only a 21, However if 72 told him 12 1n°% 70X 2°n
that is not considered a final poy, and if he is n2w afterwards he pays 'm '7. The answer of the "1 is that there was a
172 nTavn, therefore it is no longer considered a 01p, however he is still 'm '72 21, because he is not a 7213 since 7"*2
only told him 17 1n°% 70X 27.
30 mooin in the beginning (see footnote # 1) brought proof from 77w1 P35 that 1°13% 01p W XK. This answer wishes
to refute that proof. See ‘Appendix’ B.
31 One is liable to bring a y1aw 127p, if one denied and swore that he does not owe money, which indeed he owes. If
he confesses he must repay the money plus a wmn and bring a 127p for the false av12w (an M?°13 DWX).
32 9,3,
33 %9,71 X7p". This is the P105 concerning 7¥12w 1277. All the cases there are regarding 772, to the exclusion of D3p.
3 We assumed this to mean that the children can collect it (only after P72 772v7), However the 12977 °"1 has a
different explanation.
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= 1972 1Ay 925V 1199 NN 935 PYY KW DININ NN YaWI) 9999
And he denied it and swore falsely to the heirs, and subsequently admitted; in
this case, since when this debt was inherited by the heirs it was already ym%; it

was no longer a 01p, since he was already 7372 7% by the father -
= AV 1299 29N RIPT PNTPOT NINDYT 1 19 ON TV9NDY MNNY D192 NN D)

And he could not have been exempt by admitting, therefore it is similar to the

17P2 in the P05, and he will be 23317 a 712w 3292, The X »3 there continues -
= NIN PANT 359910 99IN PYNRY 239 Nr295N

»2X challenged 717; the Xn»"2 teaches w'' states, etc. but if it is money as you

claim, it belongs to the brothers for they inherit it from the father -
- DIV YY AYAY 1399 19190 2HNN TN PHXRY 1N OXY ¥11999)

And the explanation of the question is that if it does not belong to the brothers

how can the denier be liable for a 772w 3297 based on their claim -
= NI PANRT NI YNY RHN NI INTT 0927 Dya IND XY

But they are not his litigants (if we say it does not belong to the brothers), rather

this proves that it belongs to the brothers, so why does w"9 maintains 723y 5w 37 72!
= AV 129D 29N 1YY NHDIP INYA 12327 IYINND NIN 119197 N9 9IRP 2D IO

And the X3 concluded that when did 729 rule that it is °12% 7> Pan
concerning the 7¥12w 3299 2191, regarding other NP only, not by 7nom o1R—

nooIn responds to an anticipated difficulty:®
= 4051995 X 13997 AHN 73 9NN 3919529 1972 NTIYY YN TII0SNT Pr0M

And this which the X773 concludes that w21 is necessary in a case where the 0IX»
was 1972 7%y and she became a n9x32 before he paid, and she died afterwards

35 w3 maintains that if the father died 172 77%Y7 70X, the 01p belongs to the daughter, and not to her brothers (the
father’s heirs). However according to 7127 that after 172 7797 it is 177 it should belong to the 7rX (the o*wa).
3 mpoIn needs to explain the question according to the 1297 *"; seemingly according to him 737 never said that it
belongs to the 11X he merely said that there is a 712w 7279 if he denies the 0°w7. Therefore n1D0IN needs to explain.
37 All other n101p besides 7nom 01X, since in those cases (of n"X) the father is 77217 in the 017 only when he receives
it, so even after 1°72 77M¥7 it is not his (to be w*M) so by "X there is no 712w 127p by the ow .
38 We just concluded (See footnote # 37) that the reason why by 7nom1 0118, the heirs do not inherit it, is because the
father is not 71277 in the 03P, until he actually receives it. The X3 there (in 2,21 mM21Nd) asks if that is the case, why
did "9 exclude 1nom) 01K from a 7312w 279 because it is not similar to the other cases, ¥"9 should have said there
is no 7¥12aw 127p by n"IX, for even after the 172 77MY7 it is still not a 17 211, since the 7170 does not grant the father
the payment until he actually receives it. M50 continues with explaining the answer of the X723 there.
% In which case the 01 belongs to her.
40 In this case if the 1% denies that there was a 772 772v7, etc. and swears to that effect and then confesses; we may
have thought that there is a nv12w 727p, the wnd1 teaches us that even in this case there is no n¥2aw 127p. This
seemingly contradicts what that 12777 >"1 stated that regarding the 0°w9? there is a 7912w 327p, and here too the father
is also a w77, so why is there no 7¥12w 127p here and in the other cases there is a 7¥12w 1277 by the wa.
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(before he paid), the rule is that the father inherits the 017 from her —

mooin replies and distinguishes between the case of the father and the o wy:
= 927959599 410957 5207 59290 VP 1Py DIPN Yon

Nonetheless in the case of the father inheriting the daughter, it is mainly considered

a 017 both regarding her and him (the father) so therefore there is no 7y1w 1277 -
= 995 0P NN NY 1992 %2397 19320 YINNT “3NMDIP INYD 1T XD

And it is not similar to the other nwi» where he can be 1M12% 2, because

regarding the 13 it is not a ©1p at all, therefore when they claim against the 01p 2177
there can be a 73y12w j27p.

Mmoo has a difficulty with 1277 °" "5:
:[RDYD HNNNN MN2T K,2¥ NP K33 MoDIn ] AT WITDD Hynwmn XD 19925 1WIrNNY PYYH 1N

However the expression of 1732% %w37% (which 7127 used), does not lend itself to
this interpretation of the 1257 >".

Summary
If we maintain 1°12% 017 W° 07X K"K, the statement of X217 (that 1°312% 7w 1I2) is

referring to 0391 N2, According to the 12277 °"9 when 727 stated AW a2 K17 10
1°12% he was referring to a n¥12w 1270 that if there was a 172 n7v1 both by the w1
and the heirs, he 1s 2’17 a 72w 1277.

Thinking it over

We learnt in this 19010 that 70971 01X 1s different from other mMdip, where after the
772 77MYa it becomes an, however by ™3 it is not Tvan until 701 Nyw.* Later
npoIn cites the X3 (regarding ™32) in a case where nM 7732 that the father
inherits her (0> Xp 711).%6 This two statements seem to contradict each other,

4!'It is considered a 01p regarding the woman and she receives it after 7732w as a 0Ip payment.

42 1t was a 0Ip which belonged to the father initially. Therefore now when he inherits the 017 from his daughter
(which initially was his 017 payment) we still consider it a 01p payment and therefore no 712w 127p.

43 For instance 793; the 01p was only to the father there never was any 01p obligation to his heirs, therefore if there
was a 1°72 171 by the w i, there can be a 712w 1277 by the 0w, since by them it was never a 01p payment; only
1. See ‘Appendix’ C.

“ When we interpret 1°132 w172 to mean that the heirs inherit the 01p that is appropriate because he is bequeathing
the 1P to his heirs. However according to the 12771 °"1, he is not bequeathing anything to the heirs; it is merely that if
the D1pn 9¥2 swears falsely to the 2*w11> he will be liable for a 12w 129, but that is not a 7w from the father. 727
should have rather said 1°12 My*awn ax X1MKRp °1 or something similar but not 1137 W Nn5.

4 See footnote # 37.

46 See footnote # 40.
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either it belongs to him after 172 7727 (the second case) or it does not (the first
citation); which way is it? How can we resolve this?!

Appendix
A. ™R queried 721 what would be the ruling (according to 1nw»aw ")* if one denied

the charge that he was both 0ixkn a 771 and was found guilty in 7"°2, and he swore
to that effect, and then later he confessed that all if it is true (that he was convicted
in 7"2); is he 21 a 12w 1299,* or not.* 727 replied that it is considered 17
(since there was a 1°72 17¥1) and he is 217 a 7¥12W 127p.

»aX challenged 727 from a Xn»972 where w"1 rules that if a 01X» denied and swore
and later confessed that he is not liable for a 7y12w 327p.%°

727 replied that indeed he is 7D from a 7¥12w 1272, and when I replied that it is
17 (it was not regarding a 7312w J27p, but rather it is considered 1°12% W77 101,
The meaning (according to N1901N) is that the 0IXM must pay the 01 money to the
heirs of the 7717 "aX. The inference from this answer is that if there would not be a
172 7Y, it would be considered a 01p, and therefore if the father died before
collecting this 01p, his heirs would not receive the 01p payment for 01 w71 QTR X
1°12%; however since there was a 1°72 771V it is now considered 1n and therefore
his heirs inherit this payment.

B. The 12577 >"1 disagrees with the ruling of 1°12% 01p w1 R"X and he interprets this
X713 in a different manner.

When 7727 answered that he means 1°32% w1732 177 177 (it does not mean that the
heirs inherit the 01p [for they inherit the 017 even without 172 771Y7], but rather) if
the father passed on (after the 772 772¥7, and his heirs are demanding payment
from the 0i1Xn and he swears that he does not owe them anything, and then admits
that he does owe them, the 01X» is liable for a 7y12W 127p.!

47 "9 maintains there is no 712w 1277 (see footnote # 2) by 01p only by 7wn. The details enumerated by a 7312w 127p
(in 22-82,77 X7p™) are all cases of money, not 01p.
48 A 7912w 127p (or an M?°1a DWR) is brought when someone swore falsely that he does not owe money, which in fact
he does owe, and then he confesses and admits that he owes the money. He is then obligated to repay the money plus
a wmn and to bring an M2°13 awR (or a 7¥12W 127p).
4 Do we say that since the origin of this payment was a 01 (for being 0IX» a 77w1), there is no A¥1W 1277 (see
footnote # 1), or since there was already a ruling in 7"°2 (a 172 772¥7) it is considered 177, and not 03p.
0 The xm3 infers that it is in a case of 1°72 74v, contrary to the ruling of 721
5! This is more consistent with the original answer of 727 that 'v1aw 1727p 79y 271 7 ’1n', while according to
mooIn we will have to amend that answer and delete 7y12w 1279 7% 2200,
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C. According to the 12277 °"1 when he swore and denied to the father after the 771v7
172, there 1s no 7¥12W 1272 (since regarding the father the initial claim was for 01p),
however regarding the 0w he is liable for a 7y2w 1277 if he wore and denied
after a 172 770Yn with the 0w (since regarding the 0°wAY it was always 1nn for
there was already a 1°72 771¥7 by the 77v17 "2R).
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